Exponential Growth and Decay Problems 5 Name - ' L 1M

1) The price for milk is $6.25 per gallon but is rising at a rate of 1.2% each year. At this rate, how
much will a gallon of milk cost in 5 years. (Round to nearest cent. )
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2) The amount of medicine in the bloodstream after x hours can be shown by the equation

M =200(0.8)". About how many times more medicine is there in the bloodstream after one hour
than after six hours?
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3) A new $600 ipad depreciates by 20% every year.

a) Write an equation that shows the cost of the ipad, C, at year x.
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”b) How much will the ipad be worth in 5 years?
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c) How long will it take for the ipad to be wortO‘?
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When figuring out compound interest, use the formula ¥ = @(1+—)" where y = value of the
n

investment after x years, a = initial value (principal invested), r = annual interest rate, and n = number

of times compounded per year. 1)
n=.IX
4) IfTinvest $2000 in a 5-year CD with 1.5% interest compounded @ow much money will I

have after 5 years? 5
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5) If Linvest $5,000 in a 1-year CD with 1.02% interest compoundeddaily) how much money will I

have after 1 year? L O10 9 5(0531.
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6) You invest $10,000 in an account with 2% interest. Assume you don’t touch the money or add

money other than the earned interest. i I
a) How much money would be in the account after 20 years if interest were oompoundef annually? )
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b) How much money would be in the account after 20 years if interest were compounded daily?
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c) Which is the better deal and why?
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